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x  y  xx   yy   2)( xx   2)( yy   ))(( yyxx   

2 2 -5,6 -3,8 31,36 14,44 21,2 

6 4 -1,6 -1,8 2,56 3,24 2,88 

8 6 0,4 0,2 0,16 0,04 0,08 

10 7 2,4 1,2 5,76 1,44 2,88 

12 10 4,4 4,2 19,36 17,64 18,48 

     59,2 36,8 45,52 

 

1.  y = ax + b 
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05,085,58,56,7.77,08,5  xayb  

05,077,0  xy ........rovnica regresnej priamky pri závislosti y na x. 

2.  bayx   
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     4,02,76,78,5.24,16,7  yaxb  

4,024,1  yx ..........rovnica regresnej priamky pri závislosti x na y. 

 


